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. PART-I
ENGLisH : 40 Marks
Instructions: Each question undey thi

S Payy Carries ONE mark. Please read the instructions carefully and

wer the questions by selecting . )
::Z'h o A B C&D. 8 the mqg, Ppropriate answer out of the multiple answers given below

There shall be negative marking @ ¢ ™Mark per question for wrong/multiple answers.

rongly Spc

(A) National (B) Anthep, () Business (D) Trycolour
(A) Usual (B) Actug] () Arival (D) Approval
(A) Patrol (B) Incom (©) Village (D) Enough
(A) Independenc B)  Foreigne, (C) Partition (D) Trader

Instruction for questions 5 to 8 : Find gy the correctly spelt word.

(A) Application (B)  Applecatiop, (C) Aplication (D) Applicasion
(A) Addmision (B)  Admission (C) Admision (D) Admmision
(A) Wellcome (B)  Welcom (C) Welcome (D) Wellcom
(A) Urggent (B) Urrggent (C) Urrgent (D) Urgent

Instruction for questions 9 to 12 : Choose the most correct/appropriate option.
I have won the match; but sadly I lost.

(A) will (B) dareto (C) needto (D) could
There be a famous sweet shop here 20 years back.

(A) wasto (B) would (C) usedto (D) should
We always respect our elders.

(A) could (B) should (C) can (D) may
All students obey the school regulations to maintain discipline.

(A) must (B) areableto (©) could (D) will

Instruction for questions 13 to 20 :

ten below with most suitable/appropriate word from the options

a1 yraph writ
Fill in the blanks of the paragrap d in the blanks,

given against each question as indicate

“Milk i jtamins and proteins. Children should drink it 14) otherwise
Milk i (0. 13) d. full of vitamins an dren should drin (0.14) '
iy = Joo / hment. Elders must also (Q._16) it; but those who cannot (Q. 17) it

th ight (O ) der-nouris
ol o e e s an (0182 We should (Q. 19) milk of good quality from milk booths (0.

20) by government.”

(A) complete (B) completely (C)  Completing (D) completion

(A) regularity (B) regulately (C) regulatingly (D) regularly

i D
(A) sufferingly @) suffer (C) suffering (D) suffered
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16.
17.

18.
1.

20.

21.

22.

23.

24,

25.

26.

27.

(A) taken (B) taking ©
(A) affordance (B) affording (©)
(A) alternation (B) alteration ©
(A) purchase (B) purchasingly ©
(A) openingly (B) opened ©

Instruction for questions 21 to 24:
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take (D) took

afford (D) afforded
alter (D) alternative
purchased (D) purchasing
open (D) opening

Arrange the words (parts of a sentence) properly to form a correct sentence.

few places / take rest /on the / there were / to / way
(A) Places there to take rest were few on the (B)
way.
(C) There were few places to take rest on the
way.
wheel /is / man’s / the / invention / greatest / perhaps

(A)

(D)

(B)

The wheel is perhaps man’s greatest

invention.

Perhaps the greatest invention is man’s

wheel.

very difficult / it was / to travel / earlier / long distances

© (D)

(A) It was very difficult earlier travel to long
distances,

(B)

(©)  Earlier long distances was very difficult to (D)

travel it.
backs / their belongings / travellers carried / on their
(A)

Belongings carried their travellers on their (B)
backs.

(C)  Their travellers carried on belongings on (D)
their backs.

Instruction for questions 25 to 27:
Fill in the blanks of the Paragraph written be]q

There were few places the way to take rest
on.

The way to take rest on few places were
there.

The wheel is man’s greatest perhaps
invention.

Perhaps wheel is man’s greatest the
invention.

It was difficult to very travel long distances
carlier,

Earlier it was very difficult to travel long
distances.

Travellers carried their belongings on their
backs.

Their backs carried their belongings on
travellers.

W with most suitable/appropriate passive voice from the _

options given against each question as indicated ip, the blanks.
“How to make a cup of tea
In order to make a cup of tea, boileq water (Q, 28 mr o0 =8

27). A cup of tea is ready.”

A our into a cu
A) p p (B)

(©) has been poured into a cup (D)

(A) will be added

(©) is added (B)
(D)

(A) isput in it and stirred

(©) had been put in it and stirred B)

(D)

(Q.25) Then a spoonful of sugar (Q. 26) to it. Some milk (Q.

is poured into a cup
had been pour into a cup

add
added

is putted in it and stir
put in it and stir
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32.

33.

35.

36.
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Instruction for questions 28-30 :
Choose the best/appropriate meaning of the Underlined words.

As directed by my boss, I have prepared th, Meeting agenda-

(A) list of food items to be served in the (B) issues to be discussed in the meeting
meeting ' . . .

(C) persons to be present in the meeting D) agencies to be present in the meeting

Korapat district of Odisha, which is a very hilly district, boasts of many perennial streams that help in local
agriculture,

(A) streams supplying water for irrigation (B) streams flowing only during rainy season
(C) streams flowing from hills and foregy (D) streams flowing round the year

Amongst seasonal fruits, I like mango the best for its sweetness.

(A) not available in all seasons (B) available in the local area

(©) available in all seasons (D) tastes sweet
Instruction for questions 31-35 :
Fill in the blanks with the most appropriate option given.

They the train if they do not hurry,

(A)  will miss (B)  will have missed . (©) are missing (D) miss.
I'try to visit my relatives in my home town other month.
(A) any (B) every (C) each (D) some

The dentist cleaned my with some liquid.

(A) teeth (B) teeths (C) tooth

(D) tooths
The crowd restless as the day got hotter.
(A)  were getting (B) will get (C) was getting (D) is getting
Your writing is bad but mine is .
(A) worst (B) better (©) badder (D) worse

Instruction for questions 36-40
Read the paragraph given below and answer the questions,

enough life jackets onboard. Fishermen said the river is dee

who were caught underneath the boat was a tough task. Tapyy municipal chairman P P Shamsudheen said
the private party operating the boat carried more peop

. _ le than allowed. “That was the reason for the
accident,” he said. Many of those who died Were women and children who had come for a ride amid the
ongoing school vacations,

P at the accident spot and rescuing the people

Rescuing the people was difficult because

(A) beinga Sunday, government officials were () the boat was carrying excess people
not available

(©  the river was deep at the accident place D) the people were mainly tourists
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37.

38.

39.

40.

41.

42.

43.
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What other rule violation was committed by the boat?

i i ice after 6 pm
(A) " operating on a government holiday (B) operating the service p

(C) carrying tourists in the boat without

() carrying children in the boat
swimming test

Who should be responsible for not having enough life jackets?

(A) the rescue team

(B) the local fishermen
(C)  the boat operator

(D) the tourists themselves who were supposed
to have their own life jackets

Approximately how many extra persons were in the boat beyond its sanctioned capacity?
(A) 20

B) 35
©) 21 D) 15
The boat overturned because
(A)  there were not enough life jackets | (B) the river was deep
(©)  there were many children and women (D)  there were more people than the allowed
limit
PART-II
ODIA: 35 Marks
PedaIent : V8 Qig geoe 990 aar aR ve a5 @R | fadde 99906 ap aeeis aeg ve* o/ ocp Saimadel
BREAIPE AeNQ A6 aan Pde Qg /

QR 888 &7 YerIe aaq aIe 94 6@l 0.5 a1 6naN d6cyel eaudiq |
608l ARG Y@ B9agee qiet ?

(A) Qo6q ocn a18g |

(C) ¢ave dga pe |

AUACL AIQER QEQA G0 QU Q&R |
QAU QUNM1EQ Qal [9/08 72

(A) oagal (B) @
(C) aneg

(D) Qa8
600 AME ¥Q elde Qi 2

(B) 161 Qa1 v Qi1 6@ QI |
(D) 2@ ¢aco 01 2

(A)  Qia1¢a6Q a6l 0d #8ica ca, alen 68616a gein
69 |

©) a9 el d80 v wm G |

(B) geae qca day |

(D) a@g agBal. genl 2R 6 aeq A4 aio aden |

94| 44 q 48 ¢ dagIREA 999409 age del 5eaf Qg [

44.

45,

46.

47.

48.

(A aii (B) aiai (C) @eq (D) aiQia
(&) ame B) adéda (C) argq (D) qeige
(A) qaeel (B) agdo (C) gaeol (D) agel
(A) ayera caie (B)  9664Q crienicn (C) 6RISAIER (D) g504@ 6RIQ
(A) el (B) Feaqy (C) e (D) &de
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gq 498 52 68 QaQIagel ée@gﬁ@% a8 &g

% Qg
9. W qiqide '

® Sigde

(A) getcaldel B .
50. (B) Weaigg,

(A) Qe6REQ

—

51. B Queagg

52. (A) €19Ra8 (B) TMoRggy,
gq 53 Q 56 6a QaaIadiel QRI5eq adg AT qig |

53. QIR ¥R
(A) 6RIAR6Q QBIRYS Qaugal
©) aniey Fa0q AR e QaQ6q adq;

54. Q6RIQ QN
(A) 26 Qqa
© 26 o
55. QQb agael
(A) 930 cqel

© qaladgn

56. Gel Qidql

(A) Qaesq aqigel
(©) Q& el

©

©

©

©

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

49 57 Q 60 6a QuaIREQl QNGB 21T QeIadiel cRIRQlEN QIg |

S57.  2geul aAgsa RAAAIR oRel ade 6ol faia |
(A) aei6p Baa 1d
©) vl 6o a0 av eI

98.  aaBe adcedq @ddial @16

(A) 214 ea2 aal AR
©) ol epar dméeian

59, cRIe guicq el 9QQQ gaQ aIv |
(A) 2 codal 6a 2 ol
©) 9asiae aeg caia

60.

99 Q2 gae ¢l

(A) 600 saia. QI cala
(©) Q32 @i qle Gac 348

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)
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agde (D) agse
gosalengl (D) geteaiqil
QREREQ : (D) Qecrga
aeRaat (D) &1oRa
adaIe @t
AQQR 901 ceQl

e @dal
A9 QuERI

Q10Q 621l
4¢] 629l

Q@ gaul codiel
aMQ 0k@al

€aQIQ 6ol

€4Q €019, QI 6l

Qa Age
69Q FIRQ 6919Q

A QAU QA 94
08 996Q 6aR Qea

QIQl adic €901 A¢ calel
AIea Q18 QERI



) qq‘Gl Q 65 ca Gmaipliel eraie1 Qieie ada edel ael Qg |
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61.  On holidays, I prefer to stay at home than going out,

62.

63.

64.

65.

66.

67.

68.

" g afaIg aae 6ca |
(A) g8 Gacq ¢ QIQI0Q AAIA 60 AGAIQ AaR A6 | (B) caif Go f aiag @ aIa 96a Qﬁ;| g ado
. z I
(C) g0 Brca Qca AGG SIRIAQ Al aid ¢f are 9sa| (D) g& Gaea o a6n GGQIQ 6 @IRIAY
@6al |

His bicycle is better than mine.
(A 6I'a airsen €A1°01Q oq | B or'a aecaq 61’acaA0IQ 84 |
© en’amean or’aiasanciq e | (D) ¢ aiacarorg &9 o |

Don’t let your family suffer for your negligence.

(A) @7 adeiag Qre zecenl odel aid Ganid | (B) Q60 6 @a aGiein 63 QIQIQ 2A6RRI A8 8
' Gad | .
(©)  @na aecesl aid gn adeiag ae deRId | (D) o adaiaa aacenl aid 9ag oe GaRIT |

He has been staying in Malkangiri since his childhood.

(A) 62 01’0 elRiaIp 00fs AIRGIRGESY andlal | B) 6a 0I’a einiainen 62 Ge G SIRaIndssa
aféial |

©)  caora amiang aneindace QReIgas | D) ca or’a emiainca Areiedacn a38a |

He called a taxi for me.

(A) g or aig eqice ¢168 6134 | (B) 6a 671160 alice 6103 Qlaal aia o@al |

(C) €a €160 60160 G1RE cRIR oIaRI | D) ea e angt e clad e1aal |

AARde aqeeed ad gq 66-69 o a6Q aaq 82 |

Qlegie Aiedla Goia cealgl MAGAIRG aERc Yo REAN QAR 216 ARB | ¥§ §oR agIaq ZIaig QEAIRQ Bl
[gIaca 90 QA0 § ¢ Qo | WP A9g0 aaasa 8-¢ Hgp oQ, Allan dal aere eaigiadelece
QRLIRA I GOF QYAQ FIRI0IQ 99 e REAA ARe AR 2IRe AAITIGS | Qlaetg, Q09 46388 A'A@IARF 963
€0. 92 QQiaca 8ol ABanm adifa QIea 618 9IdeIa ro 9646 gaa edaide IRgan as 619 aase a0 fdasneel
QLR Y2 907 QYA QI *GAIA AQIR (QIRaIAR | fdan 60l e A6-6A1Q bIg, aiQ) 6AIRIRA-AIAE, RATR aIp

0° M 0l6FeR MIceqn AR Qdalca eg0 Q9 IRgan aie alee erad aike Geedn caigla aaca fRaR | Qe de

gREHAGIQ Y@ Q0 Ql6l A6REQ ZNRIM Q6Q G 2RI 89 iR 9109 AARIRT QU 19090-9¢ 6q QIaE 9 QIR 6RIG
o&iQ AN 2192191 *EER | Bk 910Q N800 €RIT Paiq FIF0IR] 2948 |

—~~

QRLIREQ anIe ARES! Agan Qa @ 6 aig 99904 7

(A) 991 QIa6Q 6716 QIZRIR 81 gHas 498 0Qa1de | (B) Y2 QA Q00 RAAN QUM 04 QiFe 9000 6QIF
QG AR QARG |
(C) vEica 23 an Qo Aean 2@ | (D) g1 QIaGR 6716 GI9CIR ro giae gae edaiGe |

9090-9¢ 2l adeq Q100 (@60 oGa Rean o1 MO10 ERY cRaNIREDIQ ANRINT FRERI ?

(A) 9000 6QI (B) $M00 @i
(©) 9800 6al& (D) 0300 &G

Q180 YPIA AN 216646019 FO8 g qeq 9

(A) Qg AIQa aneIM @d (B) @ed 2Ineiet ¢ od

(C) rad qice Hee agier o (D) @8Rrasa aNAIM @4
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69. Ia0A 6ad QIA1EA AEOM YIQA ARIR Adg

(A) QF-QQ
(C) «egie (B
(D)

(g9 70 Q 75): Guaiadiel aAIR! QMG B2y gQ]le oag
|
70. "I have not yet in my life eaten any fruijt SWeeter th ango
an m

(A) @ ad fol & ¢ 67l 1906a adnig 9l qig
' aQeId |

(©) 671 atenca eavIe 9al 27 88 A0l o ¢ ggqs

(B)

(D)

71.  He does not like me as much as 1 like him,
(A)  6a 1o 6060 @A €Y. 7 91°Q 6360 o aig g | (B)
(C) 6a 6AI6e 6A1°0IQ AP AR Q6Q QIT | (D)

CRE2023/ C/ Page 9 of 24

QLR 6 AF-AYQ
falT<] ()|

aioiq aye Aoidlel 6dlad e dsaka odnin gal
q a8 0 |

691 @196a adRIe gal a701q e Foigel or o
daaIg |

¢ 61’ 6360 G99 A6Q, 64 671IEY 69160 FAR HEQ
g
6d 61160 6911 ORI a9 Qca Q1T |

72. Mighty Himalayas and vast Indian Ocean bound India in north and south respectively.

(A) QP QAR 6 Q866Q 9% GAIRG, 6 FaIe Qlae (B)
AQIAIfag QIf Qdg |
(C) gae 7149, 6 GaIe QIRe AQIAITR QIAe] AaQ @I (D)

Q86 cia Q1B aFigd |
73. Seek happiness in whatever you do, small or big.

(A) cqie @1 @0 QIQl § 2Q2, 6a8icq 4T 626l A1 6oy

gae 1RCR QAR 6 AT AIRS AQIAITAR
Q5669 QA0 QIf QIR QG3 |

QAQ6R 909 ARG, G @8R FIT QRS AQIAINR
Qa0Q QB aFe] |

(B) 621¢ @l @9 €IQl A2 @ QA QA *QR. AAgR

o | ¢dea Qg |
(C) 6a1e ¢d ol 90 ¢d. agica alal eGoIR | (D) 626 ¢d A 6816 QA @Q G Q9 ¢4 Ala *9 QA
QQ |

74.  1will talk about my sister’s marriage with my father after she returns from office.

. ~ b
(A) 651l qlal 26Q cordial d6a ¢ 671 QA age ol

delp Gagsa @ell 696 |
(C) 651 Qaen Adaq 606RAl A6 g elaie 92 ol’ GaIg
36060 @2l 696 |
. : i few years.
75.  People have started leaving this place since & years

(A) crienice @3 od of ¥ IIg 819

~n - Sea |
©) crenice 68 ad ocr V@ alelcn AR

MY UPSC.COM

(B) 65l Qaen AFQ 6cael 96a ¢ 671 Qa8 6 QIR

ado o’ Galp Gesa el 628 |

(D) 601l Qlal 2GaQ 66l 066 f 0I°@ 92 671a4R

delp Gaose @ell 696 |

Gal 2Qs] Qendl | (B) criesico 8 of ocr V@ @I6IQ 81 a/talee

QlIRaIR86R |

(D) cRIenice U@ QIGIca A& oF ceal agel a1

Qcmdl |
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76.

77.

78.

79.

80.

81.

82.

83.
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MATHEMATICS - 35 Marks

Instructions: Each question under this part carries ONE mark, Plegse re

/ ad each question carefully and
answer them by selecting the right one out of the multiple answers given

below each as A, B, C & D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple answers.

RETaIOR! : v QIGR vt gga aar aig Ve AIE aPS | AATe 99900 ap agaa aeg ve* o/ o6 Gaaader
RRRAPE ANQ A6PIRA ara Fda eag /

QR RRR ¢ VeIYe Rar g aq 68/ 0.5 16 6ReIY G6CUe BRIde |

Find the area and perimeter of a rectan
12

gle having length 12 cm and breadth 10 cm.
cm 6@ ¢ 10cm gg 388 v AALCEIR CHQTR B AQY 6Q6Q 7

(A) 120 cm?, 44 cm (B)

120 cm?, 48 cm ©) 128 cm?, 44 cm (D) 124 cm?, 40 cm
If perimeter of an equilateral triangle is 27 cm, what is the length of its sides?
Y@ QA9IQ Geeq ady 98 27cm U, 6oce ¥QIa QlAIee 63aT c¢ass 7
(A) 13cm, 7cm, 7cm (B) 10cm, 9cm, 8cm (©) 9cem, 9cm, 9em, (D) 10cm, 10cm, 7cm

A mixture contains milk and water in the ratio of 5 : 4. If 5
becomes 5:6. How much milk is there in the mixture?

Y@ A965Q QU 6 QIER 2QMIe 5:4 2o | VEsa 43 5 S ad AdIaN, coce @

litres of water is added to the mixture, the ratio

N 6 alfiq 2416 5:6 QU | 6ese Agaca

6060 QU 23 ?

(A) 10 Ltr. (B) 15 Ltr. © 7.5Ltr. (D) 12.5Ltr.
Sum of two numbers is 25 and their difference is 13. Find their product.

Q@@ aeHIQ calgem 25 6 dceieh 13 260 Ieeal QRGQ QacR 6a60 ?

(A) 114 (B) 325 (C) 38 (D) 12
Find the simple interest on Rs. 4000 at annual rate of interest of 5% for 6 months.

4000 ¢& @asa QR 5% QU Q0sa 6 FIAQ AAR QX ace cae ?

(A) Rs. 80 (B) Rs. 800 (C) Rs. 100 ~ (D) Rs.200
Find the mean of first five multiples of 8.

8 @ gad aEe 9éoeq QAIRIA A 696 ?

(A) 40 (B) 16 © 32 (D) 24

Ram’s salary increased from Rs. 24,000 to Rs. 30,000, Find the increase in percentage.
aina e a¢ 24,000 caiq 30,000 oG @ @@l 696q 99! S G0ae! A8al 7

(A) 60% (B) 6000% (©) 25% (D) 20%

In the series 357, 363,369, ......... , what will be the 108 torm?
357 363, 369, ----- @ﬂGQ QA goeﬂla Q,ﬂ 9

A) 413 B) 417 © 411 () 405

MY UPSC.COM



Which one of the followmg numberg
finGde cod aoml 3 Qe Gare Bicg 9 § divisijq by 39

(A) 7249

CRE2023/C / Page 11 of 24

(B) 9337
(C) 8168 (D) 4599

g5. Find the perimeter of a square having are,

1
144cm’ cagerm 8ol odeagq adY 60ce 7 44 om,

*(A) 12cm B
(B) 36cm © 24cm (D) ‘48 cm
g6. If15*x 157=15° find the valuc of ‘y’

00 15 % 157=15° 666 ‘y’ Q At caco ?

A) 24
G ®) 2 ©) 5 (D) 1.5

87. Inhow many years Rs. 3100 will become Rg 6200 at 4%
. 0

simple interest per annum?
afe 4% aae g iaca.

3100 ¢&19 6200 g 691 Qi 6aco @d AIG@ ?

(A) 20 (B) 30 © 15 (D) 25
88. Find 8% of 625.
625 Q 8% 6260 ?
(A) 8 (B) 800 (C) 625 (D) 50
625 625 8

89.  After spending 30% of the money he took for shopping, Hari is left with Rs. 2100. How much money he
had taken for shopping?

Ghe @del ale sradiel oaa 30% ¢F el a6 @A aisa 2100 ¢&i ARRI QAN | 6a 6260 S @58 Q8el aId RaAl ?

(A) Rs. 6300 (B) Rs. 3000 (C) Rs. 14,700 (D) Rs.2170

90. Out of 200 persons, 140 like tea, 120 like coffee and 80 like both tea and coffee. How many like neither tea
nor coffee?

200 caiew Awica 140 @8 9191 aae @68, 120 @8 @& 090 208 6 80 Q4 QG 91! 6 @ A9Q QA3 | 6REE 24 BIQ! QI
e 671000 aan @08 P18 7
(A) 60 (B) 10 © 20 (D) 40

are with 1 cmlong sides or a circle with 1 cm radius ?

squ
91.  Which one has larger pcrlmctcr asq Jem @411 86l 9a 7

@210 a6y 9eaes 1em 6dal algadie adlcaq @l

(A) Square (B) Circle (€) Both have same (D) Cannot say
o?fw@ ) perimeter oQ ceQ a1
) ofiea oy anie

92. Costof 1 pcrllcils is cqual to the selling price of 10 pencils. Find the loss or profit percentage if 10 pencils

Z:}" ls‘l’lg s Gans 10 § 62890 55 At 62 917 QY 6960 0 cana Bhsa 9040l 6aco AIR 91 87 629 ?
A) 10% Profit (B) 1% Loss (©) 1% Profit (D) 10% Loss
0

o |
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93.  The length of three sides of a triangle are in the ratio of 2+ 3+ Zand its perimeter is 78 cm. Find the length

of its sides. 11 vala a&y 78 8 al ?
t s. ) L1 ¢ 56 Qay 6060
ve Gqea 67 aiga c3aTa 8gaI S35t a e 6 maee | 9Qaa 66 QIQQ 6@

(A) 36cm, 22cm, 20cm  (B) 36em, 26cm, 16cm  (C)  36cm, 24cm, 18cm (D)  32cm, 28cm, 18¢y,

94. ; is equal to_

1
5 @191 Qg aae 7

2% (B) 142% © 1429 (D) 70%

95.  The sum of 3 angles of a triangleis ______ -
@ Saea 97 cRlaQ and 6aee ?

(A) 270° (B) 90° ©) 360° (D) 180°

96. A mixture of 150 Litres of milk and water contains 20% water. How much more water should be added so
that water becomes 25% of the new mixture? )
150 Roq Qu ver aiia ve fgasa 20% aié 28 1986Q 21Q 6260 aId Adiasa §or Agasa 25% ald ¢ 2

(A) 10 Ltrs. (B) 30 Ltrs. (C) 20 Ltrs. (D) 15 Ltrs.

97.  The perimeter of a square courtyard is 100 meter. Find the cost of cementing it at the rate of Rs. 5 per m?.
v 6lgl 2aeia ady 100 Aeq 266 1 9QIQ 5 6@ 98 @d Aeq eaga deng 9ARIQ 626A €R60 oa AIFe |

(A) Rs. 3125 (B) Rs. 50,000 (C) Rs. 200 (D) Rs. 500

98. Ifdiameter of a circle is ‘R’, what is its area?
Y@ ¢ae 419 9@ ‘R’ 9V, 666@ YQIA 6ICTR 6860 ?

(A) nR? (B) nR? (©) 7R (D) 2mR
- 5

99. In 2:3 ratio, divide 240 into two parts,
240 @ 2:3 2RAIPEQ 2@ QIR 08 QQ |

(A) 96, 144 (B) 192,48 () 48,192 (D) 144,96
100. Which one of the following formula is oy correct?

GaRso ced 99F 0@ qed 7 )

(A) a™xa'=a™ (B)  (amy = ym (C) amxa"=a™" (D) a™™= (ab)™

101. If the radius of a circle is halved, jtg area w

5 s ill % ?
V@ 9aq @NaIgq a8 Bl eARARN, 6ogq yoiq decreaseby

S0eTa ) §0@0! @AdQ |

Aa) 75% (B) 1009 O © 25% (D) 50%
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102.

103.

104.

105.

106.

107.

108.

109.

110.

A person crosses a 600 metre |q,
@66 6@ 600 0Q @) ve Qigig 5 ﬁ@: (:cet in
o I\ Q a§

(A) 8.8 km/hr @B
5 7'2]("1/hr

| giam qqigd 6e9 €960 ?

. L \ (C) 7.8 km/hr
If one-third of one-fourth of 5 Number ;
i

Y@ eHIR Y@-008laR Ye-9o10rq of 15 90, v » What is the number?
(] |1 a

19 6q
® 45 ®.15
4 It} () 180
Simplify (125)‘%'
(125)75@ o8 @a |
(A) 25 ®) 1
— (C) -250
25 _
| , ' 3
If2°= é , what is the value of ‘a’ 9
g 27%= 514- QY, 6368 ‘@’ Q AY 6860 7
(A) -6 (B) 32 ©) 128

CRE2023 /C/ Page 13 of 24
;? mil““eS. What is his speed per hour?

(D) 8.4 knmvhr

(D) 20

©® =375

(D) 6

If an item with sale price of Rs. 1000 is sold ata discount of 20%, then how much money the customer will

save?

agAaH 1000 ea &ial e G7E 6@ 20% QQI66a 8§ QY. 696Q GIRIEl €60 FEIA QIR AIRER ?

(A) Rs.500 (B) Rs. 200 (C) Rs. 980
Find the mean of 5, 11, 16, 10 and 18.
5,11,16, 106 18 @ QQIQIQ (a1 6260 7
() 18 (B) 12 © 16
Find the median of 96, 37, 14, 35, 55, 110 and 24.
96,37, 14, 35, 55,1106 24 Q cee /el 6869 7
C

® 37 ®) 35 ©

7

des measure 13 cm, 14 cmand 15 cm.
me 15cm Q9. YRIQ CFCR 6Q6Q ?

©€) 54 cm?

Find the area of the triangle whose si
Y@ §qeq 86 eiga cdal ad 13 cm, 14¢

2
(A) 74 cm? (B) 84cm

If 3 angles of a quadrilateral are 50°, Z5°a%ﬂ g
w9 09 deal cala @b 50°, 7576 807 4%

(B) 65°
MY UPSC.COM

oce A9l 6916E 6360 7

: €) 155°
(A) 180°

g0°, then find the remaining angle.

(D) Rs. 800

(D) 35

(D) 64 cm’

(D) 90°



111.

112.

113.

114,

115.
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PART -1V
GENERAL KNOWLEDGE : 35 Marks

Instructions: Each guestion under this part carries _ONE mark. Please read t/{e Instructions;c;;e{)i;lllg “iznd
answer the questions by selecting the most appropriate answer out of the multiple answers g

cachas A, B, C & D. ' ¥

There shall be negative marking @ 0.5 mark per question for wrong/multiple answers.

RECRIOR! : V¢ QIaR 06016 gaa are aa’ve AIF aPR | PARTe gagee ap aeeica aeg ve° ol 06r PalaIRée
QRAAIPE ANQ 6T ara Fda eag !
QR QAR & vere aar aR ge agl 0.5 e 6RBIY Q6EN6 eRIde /|

Indian player P.V. Sindhu is associated with which sports?
QIS ceIRIA1 G-Q A8 cad 6eip ag @66 ?

(A) Table Tennis (B) Badminton
66QR 6669 Yefien

(C) Ball Badminton (D)  Tennis
eR eviefien e

Which country has recently been inducted into North Atlantic Treaty Organisation.
North Atlantic Treaty organisation (NATO) 6a 9G4 AR 621a8iel 6 GY 2

(A) Sweden ~ (B) Ukraine
Q6o 9698,

(C) Norway (D) Finland
fa6a drauIg

Who had occupied Odisha just before Britishers?
aGaniae 0@ 9eq 6GaI 606 e QI 4eA0 eoladal ?

(A) Mouryas (B) Portugese
eiMay agena,

(C) Mongols (D)  Marhattas
SIEERR lola]

Which of the below-given countries is largest in area?
69GEmEa GRG0 6QaNIRG MUY 606 608 Qg ?

(A) Peru (B) Argentina
6016 A6AER!
(©) Fpile (D) Brazil
oQ QIfn

Ancient India’s great man Chanakya wag associated with which Kingdom?

go18 QIa6a A2IR, €18 GI6@1 6 Agiay g aaq &em 7

(A) Chalukya (B) Kushan
QIR Q4alél

(C) Chola (D) Mourya
6017 ey
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116.

17

118.

119.

120.

121.

122,

r—— e T T
1* May is celebrated in India as wh
2N 62660 118 AT @ G184 sag e@qalzt@daw CRE2023/ C / Page 15 of 24
. Qiga
(A) Republic Day fQuqyy ?
AIREICR dag L
(C) Labour Day (B) l\/lartz'r ay
L im age Qeq
gie deq b
(D) Utkal Dibas
Iraq country is associated with, Whlch an age Geg
1e
2412 629 6361 GO1R AIRS AaN6) ag g " human ciyilization?
(A) Greek
e, (B) Mesopotamia
(©) Egypt ecaigeifial
Q8ae, (D) Rome ‘
6QUeT
What is the ‘Vande Bharat Express’?
‘a6R QIQG YREIY @6l ?
(A) A South India Film L
. ~ 1
Y@ Q86 QG QQGQ (B) A NOﬂh Indian Fl’\m
C) A shi V& QA8 Qes1H eRES
(2 . (D) A Train
e QI Y& 6aR6lIE
Which country borders the country Ukraine?
600 6Q6 YRR 626Q AINNQ RIS QFE ?
(A) Russia (B) Finland
el fFamilg
(C) Germany (D) England
aala1 RS

In which country, more than 10,000 people lost their lives in a severe earthquake in February 2023?

6ER2A 909N 6Q 66Q 6066Q Y& QUL Qﬂ@°€]661 20,000 Q U@ 6wl dIé paladien ?

(A) China (B) Pakistan
Q1R a&age
(©) Iran (D) Turkey
o0&
QaIR. 3

. : state?
Which of the following Indian states is not 2 coastal

AARG0 66 QIRCIE QIGY A9Q-PAE, Q68 7
(B) Telangana

(A) West Bengal 606RMA!
agnecg (D) Karnataka

(C) Goa agloq
a2l

Name the revolution of 1942 for India’

IRQ
Q a caladiel AR
868 qrIRel aid eery AdRI6 (B) Salt March

(A)  Quit India Mo acylge

Qe a1e (D)  Civil Disobedience
(C) Sepoy Mutiny 2R ANRY

daig1 dealg
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123.

124,

125.

126.

127.

128.

129.
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Which one of the following is not a sea port?

G‘ﬂﬁ@@ RIQ 6RAE Y@ anée ena 969 ?

(A) Gopalpur (B)  Paradeep
6aIRIRga alaIQ1a

(©) Dhamra (D)  Puri
NG aen

Mankind had originated from which place?

626 210Q NRTYRIG Q94 sgladial 7

(A) America (B)  Australia
260! AR

(C) Africa (D) Asia
A ¥del

Odia Film ‘DAMAN’, released last year, narrates the story of which district?
86 af aRe coiadiel 6Gal ordg ‘ann’ ced GRIA QIRIEN Qe 28 ?

(A) Malkangiri (B)

Kandhamal
AIRRIFER R
(C) Koraput (D) Raygada
RlQIge QUGB

Which one of the following is a classical dance of North India?
QQQG‘IG 6266 ARQ QAIAGA g 964 26e ?

(A) Kathak (B) Bharatnatyam
@ QAERISA

(©) Kuchipudi (D) Kathakali
86gd agien

Which continent had been least affected by first and second world wars?
666 71160669 e @ 00104 6‘61{]@6) dale ¢ aa a40Q6 6212817

(A) South America (B) Europe
el 26008 geald

(C) Africa (D) Asia
r3:2] vaal

Ancient Odisha’s sailors were doing trade with which part of the world?
91018 6G6Ia @éRMIeh 69180 QI §4a cae Arg ag @18qy agien ?

(A) South-West Asia (8) Europe
ofe-a8n vdal geale

(C) South-East Asia (D) China and Japan
ofe-q4 vdal 518 6 QIR

How many district are in odisha?
6G6lI6a 676016 @q 2] ?

(a) 30 B) 31
©) 28 o) 29
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.:,_’130.

131.

132.

133.

134,

135.

136.

Modern mankind is known jp,

- What
edIRa PREIAISE 6o tinea 53¢ aa.;‘;me? ERE20281 GllFBgeifriciad
?
(A) Neanderthal
fareeln ‘ (B) Australopithecus
() Homo sapien agieal G62R8
6gI6n16Q69R

(D) Homo erectus
What does ‘NaCl’ mean in che 601671 R6RRSS

aaar 881868 ‘NaCl’ qie qg ?

() Common Salt

Mistry?

qrRIas Qe (B) Vitamin
(C) Sugar de17ie,
3 (D) Acid
vée

Mithali Raj, an Indian womap 1 i
o o DYerWhO tefreq from oot in 2022, was associated with which sports?
9099 AKLISA ARAR ARSI ARG AFa) 68iRIR

) Crick MBI Qi saer 6o ag @60 &6 2
(A ricket '
@6a0, : (B) (A}ymﬁnastlcs
i |
(C) Kabadi doe &Q
& (D) Tennis
QI8 1
6009

In which place the FIH Hockey World-Cup 2023 wag Played?
624 2IR6a 909 Adgieq FIH Hockey world cup 68181 Qiadial 2

(A) Mumbai (B) Rourkela
ey Q10a6RAl

(C) Qatar (D) Belgium
Q1019 6eaRan

Which was the first state of India formed on Linguistic basis?
8l 886 600 6elafial Qan QIRGTE aIGYa AR @76 ?

(A) Andhra Pradesh (B) Odisha
AR06Q4 ageal

(C) Tamilnadu (D) West Bengal
OIARRIQ afnee

Which of the following Indian cities is located in south India?
A9RE0 see aInsto aga 0fa aiassa Aede ?

(A) Ttanagar (B) L);;ramshala
@l
[0IeeQ
. D .
(©) Coimbatore - O :ggl‘fl'
681996610 .

Who is presently the President of India ?
B8I® Qv Qiece aigad 2ad 7

B D i
(A) Ganeshi La] ® 657;2? :(Vifl v
a6a14 th
B 8 an (®)  Ramnath Koving
) Narendra Modj QUARIL 6516
P60 601G )
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138.

139.

140.

141.

142.

143.
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E=mc? formula is associated with which scientist?
E = mc’ il o6 688100 A @60 ?

(A) C.V.Raman (B) Einstein
g Q ena TQRUQR,

(C) Newton (D) Gallileo
faee GIRAG

Palestine country is located in which continent?

6Rq AQICREER TIRWIRS 6od aRF0 ? '

(A) South America (B) Europe
88 asndel gea1a

(C) Asia (D)  Africa
vaa to[3:]

In which direction of India, Himalaya Mountain Range is located?
QIRGR 626 Qasa SnRG A6eAIRI QL0 ?

(A) South (B) North
oga 2l
(C) East (D) West
ae ag&n
Mahanadi flows in which district of Odisha?
GeaIa 626 €Qlsa ARIRe1 gRIfo 9y ?
(A) Dhenkanal (B) Khorda
seERle selIal
(C) Kandhamal (D) Boudh
eRnle 6Q1Q

India’s ancient city Pataliputra is presently known as what?
QIaca 9Ie1R 2R QIFRIE eENIR 62Q AINR AAG6 ?

(B) Palampur

(A) Pune
a6e aIRINge
(C) Patna (D) Panipat
aienl [[Alo(e}

Indian origin Rishi Sunak is Prime Minister of which country?
QR0IG @°66I8e a8 JRIQ 604 608Q QUIRAR 288 ?

(A) Indonesia (B) Spain
asasedal 69R

(C) Canada (D)  United Kingdom
RIRIGI YRIREEE. AEO

Khandagiri and Udayagiri caves of Bhubaneswar are associated with which religion?
Qe6Rgaa ¢8da ¢ Ae0Ga 9 6ad ud g adg

(A) Hinduism () Islam
ge QaRIN

(C) Jainism (D) Buddhism
6@Q 6ala
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AT B i

145.

146.
147.
148.
149.
150.
151.

152.

Which country had hosted the Tecently
Co

Q@Y AAIY CRA @48E FORR -9099 gagt GOQGQnCIuded
6
(A) Qatar b
QI0IQ,
(C) France
ageg

What is ‘RRR’ that got famous recently?
Gacsa ade 6g1aélel ‘RRR’ a4 ? '

(A) An Indian Food
Ya QUG1g olQY

(C) An Indian film
Y& QQ01% 0R6¢
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FIFA World Cup football-2022?
?

Argentina
2648A
Morocco
fa6al

8)
(D)

An Indian Dance
e QIee1a 904

An Indian Novel
e Qo1 agevd

(B)
(D)

PART-V
COMPUTER KNOWLEDGE: 35 Marks

jons: Eac j ; . , ,
Instruc"tlloe S » :ti ;Tngllbest Ioln ur?der this part carries ONE mark. Please read the instructions carefully and
anSWer Heg y selecting the most appropriate answer out of the multiple answers given below

eachas A, B, C, & D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple answers.

RAM stands for
(A) Random Assigned Memory
(C) Random Access Memory

A set of rules that governs data communication is

(A) HTML
(C) Software

Google Chrome is an example of

(A) WWW
(C) Web Server

Which of the following is a software?
(A) Projector
(C) MS-Office

A is an organized collection of data.

(A) Field
(C) Database

The following are all computing devices except

(A) Digital Scanners
(©) Notebook Computers

A secure website

(A) asks to login using e-mail ID

(C) indicates a lock in front of the URL and
begins with https:

and PaSSWord

Read only Memory
Read Access Memory

(B)
(D)

Protocol
Tools

(B)
(D)

HTTP
Web Browser

(B)
D)

Hard Disk

Printer

(B)
D)

¢ Mail
Record

(B)
D)

(B) Laptops
(D) Mobile Phones

(B) asks to login with biometrics
(D) asks to login with OTP

MY UPSC.COM



153.

154.

155.

156.

157.

158.

159.

160.

161.

162.

163.

164.

165.

LCD Stands for

(A) Light Crystal Display (B)
(C) Liquid Crystal Display (D)
Which of tiie following is considered as an ICT device?

(A) FM Radio (B)
(C) Smart TV (D)
A keyboard is what kind of a device?

(A) Oatput (B)
(©) Black (D)
Identify the operating system out of the following. -

(A)  Microsoft Windows (B)
(©) Google Chrome (D)
Which communication protocol is used by Internet?

(A) HTML (B)
© www (D)
Which one of the following is the strongest password?

(A) hello12345678 (B)
(C) 123456789 D)
To cut off parts of an image is known as

(A) cropping (B)
(C) cutoff (D)
Which is not a popular computer manufacturing brand?
(A) ACER (B)
(C) HP D)

CRE2023/C/ Page 20 of 24

Lithium Crystal Display
Laser Crystal Display

Multi Meter
Tablet

Word Processing
Input

Mozila Firefox
Adobe Photoshop

TCP/IP
W3C

password
Aprfd@2021?

wrapping
trimming

NOKIA
HCL

Which of the following groups consists of only output devices?

(B)
(D)

(A) Mouse, Printer, Monitor
(C) Scanner, Printer, Monitor

Plotter, Printer, Monitor
Keyboard, Printer, Monitor

Which of the following options is used to combine more than one objects in a single object?

(B)
(D)

(A) Collision
(C) Group

Merge
Combine

A collection of web pages linked together in a particular order is known as

(A) Search Engine (B)
(C) Website (D)
The shortcut key to copy a file is

(A) ctrl+V (B)
©) alt+C (D)
A web page is located by using a

(A) Uniformly Reachable Links (B)

(C) Universal Record Linking (D)

Web Browser
Webserver

ctrl +C
shift + C

Uniform Resource Locator
Universal Record Locator
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|
E 167.
168.

169.

170.

171.
172.

173.

| 174,

| 175.

176.

;! 166 Each compu‘lEY connected to the Intemet mug

177.

178.
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(A) aUniqueIP address

(C) a Pentium Processor (B) - a modem connection

. ; (D) a Web Browser
P is called the brain of 3 computer
(A) CPU

©) Motherboard (B) Monitor

. (D) Keyboard
Most commonly available computer keyboarg is in

format.
(A) ABCDEF
(B) QWERTY
OLTY
1w (D) ALTER

Which of thesc?lsegzlces will not be provideq by a typical Internet Service Provider (ISP)?
(A) Anc-mail address (B) Technical Help
(C) Modem (D) Internet Connection

Which of the following items is not present on desktop?

(&) leon (B) Taskbar

(€} Folder (D) Disk Drive
What is the function of UPS?

(A) Increases speed of computer (B) Provides Internal Connection
(©) Pravides Storage (D) Provides backup power

Domain names always have two or more parts, separated by a

(A) period (called dot) (B) hyphen
(C) comma (D) semicolon
ICT Stands for
(A) Information and Communication (B) Information and Call Technology
Technology
(C) Information and Computer Technology (D) Information and Connection Technology

Which of the following program starts as soon as computer gets switched on ?
(A) Windows Explorer (B) Operating System

(C) MS- Office (D) Text Editor
A is location or container in which files can be stored.
(A) Library (B) Utility

(C) Folder (D) Recycle Bin -

ment that can be used to create another document?
(B) Model

(D) Template

Which of the following is a model docu
(A) Sample

(©) Style

(B) Application
(D) Software

Physical structure of a computer is called ___——
(A) Malware

(C) Hardware

When you quickly press and release the left mousc button twice, you are
(B) Secondary-Clicking

(A) D(.)uble-ClilckiTlg (D) Pointing
(C) Primary-Clicking
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179. What is the permanent in-built memory of computer called?

(A) CPU (B) CD-ROM
(©) RAM (D) ROM
180. All of the following are storage devices except
(A) Printers (B) DVD Drive
(C) Hard Disk Drive (D) USB Drive
USE FOR ROUGH WORK.
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